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mixture consists of sand and an aqueous salt solution. Which

ilter out the sand, then evaporate the water.
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4. In an aqueous solution of potassium chloride, the solute is

A) K € Cl D) HO
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13. A 1-gram sample of a compound is added to 100 grams of . ]
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A) CaCl, B) AgCl
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What is the concentration of a solution, in parts per million, if
0.02 gram of NasPOx is dissolved in 1000 grams of water?
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10. Differences in which property allow the separation of a sample
of sand and seawater by filtration?

particle size B) concentration of ions
C) volume of sample D) mass of sample
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Base your answers to questions 21 and 22 on the information below and on your knowledge of chemistry.

A student prepares two 141-gram mixtures,4 and B. Each mixture consists of NH4Cl, sand, and FO at 15°C. Both

mixtures are thoroughly stirred and allowed to stand. The mass of each component used to make the mixtures is listed
in the data table below,

Mass of the Components in Each Mixture

Mixture A Mixture B
Component @ ©
Solble  __SNHCI 40. 10 s
R ———% [sand 1 31
insorole H,0 100. 100.

21. Describe one property of sand that would enable the student to separate the sand from the other components in mixture B.
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22. Determine the temperature at which all of the NHsCl in mixture 4 dissolves to form a saturated solution.
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23. Base your answer to the following question on the information below and on your knowledge of chemistry.

Some compounds of silver are listed with their chemical formulas in the table below.

Silver Compounds
Chemical
Moins; Formula
silver carbonate Ag,CO;, -\N,g(,\\hu'
silver chiorale AgCiO; SO
sitver chioride AgQl Wk)e
silver sulfate Ag,S0, Ao (.

Identify the silver compound in the table that is most soluble in water.
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24, Base your answer to the following question on the information below and on your knowledge of chemistry.

Hydrazine, N;H,, is a compound that is very soluble in water and has a boiling point of 113°C at standard pressure.
Unlike water, hydrazine is very reactive and is sometimes used as a fuel for small rockets. One hydrazine reaction
producing gaseous products is represented by the balanced equation below.

N2Hy(€) — Na(g) + 2Ha(g) + heat
Explain, in terms of molecular polarity, why N;H, is v le in water,
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A total of 1.4 moles of sodlum nitrate is dlssolved in enough water to make 2.0 liters of an aqueous solution. The M(«M“O“ PO Lo \(‘dﬂ

25. Base your answer to the following question on the information below.
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